Races

(Linear & Circular tracks)

Concept Lecture -9




A can beat B by 10 m in a 100 m race. What is
the ratio of the speeds of A & B?

‘A’ 100m Y T F B’ F 10m & &I T
3] =t Y aIfy 1 AT T @am?

a)11: 10 b)10: 11 ¢)9: 10 }4/{0: 9
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@1 a race of 100 m, A gives a

start of 10 m to B. Despite
this, A wins the race by 20 m__.]
What is the ratio of the speed
of Aand B?

100 #. fr s A A, B F
10 #HY. 3P F X F T
8| sw% araeg A A 20 A
¥ alz # SN oar & A T8
$r AfT &1 AT AT B
a)7: 10 4110: 7

c)5:4 d)4:5
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If ‘A’ and ‘B’ run with their normal
speeds, ‘A’ can beat ‘B’ by 10 m in a
100 m race. Instead, if ‘B’ run 25%
faster than his normal speed and
‘A’ run with his normal speed, then
ina 100 m race,?
‘A 100m #r s H B & 10m
d &0 Fhdl g 3R B Hr afy
25% §¢ ST g A & afa 3d=r
& W al, 100 Hex F s #:-
a)BbeatsAby15m
b) BbeatsAby 12.5m

beatsAby 11.11m
d) AbeatsBby35m
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‘AN’ can beat ‘B’ by 20 m in a 100 m race. If
‘N decreases his speed by 20% and ‘B’
increases his speed by 20%, then in a
100 m race,

‘A’ 100 HieT fr &ls A B A 20 AT A
& &ar 8] 3K A A A1fa 20% FA @
ST g B #T a1fd 20% &6 ST aF 100m
$ gls #-
a) A & B finish the race simultaneously
b) AbeatB by 16.66 m

beat Aby 16.66 m
d)BbeatAby20m




|0 a9

Loo~ 360

A B C
(008~ Qoo

s/D 1oo: A0 : g/
19

In a race of 1000 m, A can beat
B by 100 m. In a race of 400 m,
B beats C by 40 m. In a race of
500 m. A will beat C by
1000 Hex s # A, B A
100 #Hex & FU FHaAT g
400 #Hex # s &, B 40 #H
¥ C & & &ar g1 500 AR
$r gls Al A, c F Faa A
q & e

95 m b) 50 m
c)45m d) 60 m
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Ina 1 kmrace A, B and C are three participant.

(A can give B a start of 50 m,and C a start of

69 m. The start which B can allow C is

1 e Y gz & A, B 3 ¢ e wfdemh

g1 A, B & 50 #HleX 3X ¢ A 69 Hex 3mar
¥ YE H & FHaT ¢l ar B C H et
AT 3 A AF FIT & FhaT &

a)17m /EOm 19m d)18m




‘A’ can beat ‘B’ by 5 secin a 100m race. If the
speed of ‘A’ is 5m/s, Find the speed of ‘B’?

‘AN 100m fr T F B HA 5 AFs T &
THdT 8] 39 A ¥ 7 5m/s &, aY B &
afa AT X2

a)4.5m/s b)4.2m/s
A4m/s d)3.6 m/s
A B
S 5 lwls
T Q0s 25
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In a kilometer race, A beats B by 30 seconds
and B beats C by 15 seconds. If A beats C by
180 meters, the time taken by A to run 1
kilometer is

s fradHer fr s 7 AB FF 30 AFs
3T B C F 15 FHzH & @WIaT 81 I
A 180 X ¥ C H gaT &, ar A 1

freieY fFas wag # dlsar @
a) 250 seconds 205 seconds
¢) 200 seconds d) 210 seconds
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In a 100 m race, Tom runs at a speed of 5 m/s.
If Tom gives a start of 4 m to Jerry and still
beats him by 12 s, what is the speed of Jerry?

100 H. r s FeHw s5m/s A afqd @
glear 8] 3PR < S & 4 AL I @
UF FI g1 § IR T Y 12 FHE @
St arar & ar o A 7Y A\ =
a)2m/s b)2.5m/s % 3m/s d)4m/s
T

J

; 25




In a 200 m walk race, Zakia walks at an

20-m r\/ 180 -|—l\§$ average speed of 5 km/h. She gives a start
g —o of 20 m to Veena and still beats her by 18
z Z seconds. What is the average speed of
Veena (in km/h) ?
é_i’é’: |80 ™M 200 m T gis #, FHAT 5 km/h A
4,6{ > mm#ﬁs?ﬁ%la'ga"lm#mm
& gledt § 3 T st 3@ 18 A%
S Hﬁh%w"lma‘»‘rsﬁwrm(km/hﬁ)
T l4ys 1625 a)4ﬁ b) 4.5
N '
TR d)3.5
2m13 YU S
—%5
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‘A’ can beat ‘B’ by 10 sec and ‘C’ by 20 sec in
a 100 m race. If the ratio of speed of ‘A’ & ‘B’
is 5: 4, find the ratio of speed of ‘B’ & ‘C’?
A100m frals A B A 10 AR A T C
H 20 THS W &I Tl §] 3T A 3T B
$Y afy FT 39T 5:4 ¢ A B AT c A
afer T 31?-|'=I1T-|' AT H?

a)1: 6 b)3: 2

ﬂ’/6 : 5 d) Can’t be determined
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The speed of ‘A’ is 20% more than that of ‘B’
and the speed of ‘B’ is 25% more than that of
‘C’, if ‘A’ can beat ‘C’ by ‘d’ meters in 600 m
race, find ‘d’? ~

‘A’ Fr afT B Fr AT F 20% 3FAF §| ‘B’
$r afa ¢ o afa T 25% IWF § IR
600m gl FA, c Frd AT T waT §
dard &1 A AT HL?

a)300m b)250m #A200m d)150m




Suman can give Bhuwan a start of 20 m in a
100 m race. To do a favour to Bhuwan, if
Suman start from 20 m behind the starting
line, in a 100 m race, then

gAA 100m # &g & & F 20m F
maaawﬁamwi'm#mm
tﬁﬁ#aﬁwwaﬁa’mmmaﬁra’lﬁﬁr-
1) Both Suman and Bhuwan finish the race
simultaneously
,}fSuman beat Bhuwan by 4 m

3) Bhuwan beat Suman by 4 m

4) None

& 100m Vw
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‘A’ can beat ‘B’ by 5 sec in a 100 m race. If
'lﬂtre difference of speeds of ‘A’ and ‘B’ is

1 m/s, find the speed of ‘A’?

‘AN 100m $fr s ¥ B F 5 Ahs A

gdr 8] 3R A 3 B #Y afaay &1 AT

1m/s g aTA & a1fa AT F?

a)dm/s b)4.8m/s
% m/s d6m/s
D=524 At
AS




‘A’ is twice faster than ‘B’. if ‘A’ can ‘B’ by 10
secin a 100 m race, find the speed of ‘A’?

‘N, B ® SNAT d 8] 39 a 100 m A
g5 & B # 10 ¥Fs ¥ g WFaT ¥ A

‘A #Y AfT AT F:R?

a)s5m/s b)8m/s
A B /)’/10 m/s d) Can’t say
L v




Three athletes run a 4 km race. Their speeds
are in the ratio 16:15:11. When the
winner wins the race, then the distance
between the athlete in the second position
to the athlete in the third position is

AT Tache 4 fFAr & dls aema &
3@ aIfd 16:15: 11 & Hqard 7 B
ofe fastar 3@ Sfiaer &, @ gaX Tue &
el 3T W T wyelle & &=

$1 g0 B

/1000 m b) 800 m

c)750m d) 600 m

| SSC CDS 2015 | 17
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In a race of 1000 m, A beats B by 150 m,
while in another race of 3000 m, C beats D by
400 m.@eed of B is equal to that of BJ
(Assume that A, B, C, and D run with uniform
speed in all the events). If A and C participate
in a race of 6000 m, then which one of the
following is correct?

1000m $fr TH s &, A, B & 150m T
&dT &, SEfF 3000 m &Y TF I3=T alz H,
C,DH 400mA AT g1 B M afa b &
W%I (FT o F A, B, c 3l D Tafh
AT A TF AW afq & alsa @)1 IR
A 3T C 6000m# als F smr A & @
ffaf@a & @ i ar I &2

a) A beats C by 250 m.

C beats A by 250 m.
A beats Cby 115.38 m.

)u\c beats a by 115.38 m.

| SSC CDS 2018 | 18
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A B

In a race of 1000 m, A beats B by
100 m or 10s. If they start a race of

|]000 q00 1000 m simultaneously from the same
]DMIS point and if B gets injured after running

At

/5

" +t+0

>j-5§10 S

XBFU‘ Som " 5Sow
(V4

— t4s

Aless

50 m less than half the race length and
due to which his speed gets halved,
then by how much time will A beat B?

1000 m#Y i &, A, BFH 100 m AT

¥ g AT g

b)60s «¢)50s d)45s

| SSC CDS 2016 |
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Three runners A, B and C run a race, with
runner A finishing 12 meters ahead of
runner B and 18 meters ahead of runner
C, while runner@ finishes 8 meters ahead
of runner CJ Each runner travels the
entire distance at a constant speed. The
length of the race is

A, B 3R c diT yras Fdt gz #

a) 36 metres %8 metres
c) 60 metres d) 72 metres

| SSC CGL 2016 T-2, CAT 2001| 20




In arace A, B and C take part. A beats B by 30 m, B beats

C e A C by 20m and A beats C by 48 m. Which of the
—e ’3 v — following is/are correct?
’;52/' ggo’ W he length of the race is 300 m.
) ('15 . 50, A The speeds of A, B and C are in the ratio 50 : 45 : 42.
l" 2. ’ Select the correct answer using codes given below.

P C wwgls #A B3R cHET AT §l A, BF 30mE, B,
3p QQ CF 20m A FUG ¥ I A CH 48m F FA T
\2/ faefaf@a & ¥ Fla-ava ad 882
,1, 1)als & aFa1$ 300 m B|
200m 2) A, BT ¢ #T 7IfY FT 3T 50:45: 427 |
Fﬁﬂmmmwmwaﬁmaﬁcl
a)Only 1 b) Only 2
Both 1 and 2 d) Neither 1 nor 2

| SSC CDS 2015 | 21



In a race, Anil beats Bhushan by 30 seconds.
A‘ %) R In the same race, Bhushan beats Raghav by
60 secondsChushan s speed is the average

T @ 'k‘l’f)O 't-l—QO speed of Anil and RaghaDThe time (in

] | | seconds) taken by Anil to run the race is:

— . wF a3 A, AfAa F qwor #r 30 FFs
L t+%0 1490 @ wuiva R @ @ls A, swor @
g‘aﬁw @Té?ﬁfw@gﬁrmm
QJ‘Z’@G‘*%) k(H4a9) (Htroy arac 3 v o sw e *‘rig
Yﬁmm(mﬁ)ﬁﬁm%’?
90 b)iqu c) 75 d) 60
}=1550
L&

| ICAR 4 Mar 2022, S2 |ZZ
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